
Q.1 Choose the word that can substitute the given sentence.
A building where an audience sits

Ans 1. Aisle

2. Hanger

3. Gymnasium

4. Auditorium

Question ID : 23908747
Status : Answered

Chosen Option : 4

Q.2 Select the most appropriate option to fill in the blank.
He ______ his portrait in the main hall.

Ans 1. had hanged

2. hung

3. hang

4. hanged

Question ID : 23908734
Status : Answered

Chosen Option : 2

Q.3 Choose the correctly spelt word.

Ans 1. Anthusiasm

2. Enthusiesm

3. Enthusiasm

4. Entheusiasm

Question ID : 23908749
Status : Answered

Chosen Option : 3

Q.4 Choose the word that can substitute the given sentence.
A book of names and addresses

Ans 1. Diary

2. Directory

3. Dictionary

4. Journal
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Question ID : 23908748
Status : Answered

Chosen Option : 4

Q.5 Select the most appropriate synonym of the given word. 
Misfortune

Ans 1. Benefit

2. Calamity

3. Support

4. Miracle

Question ID : 23908741
Status : Answered

Chosen Option : 2

Q.6 Select the most appropriate synonym of the given word. 
Capable

Ans 1. Competent

2. Conceited

3. Complacent

4. Consistent

Question ID : 23908742
Status : Answered

Chosen Option : 1

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.
Mohan is pleased at the news yesterday.

Ans 1. No Improvement

2. was pleased

3. had being pleased

4. has been pleased

Question ID : 23908732
Status : Answered

Chosen Option : 2

Q.8 Select the most appropriate antonym of the given word. 
Comic

Ans 1. Tickle

2. Happy

3. Tragic

4. Jubilant

Question ID : 23908744
Status : Answered

Chosen Option : 3

Q.9 Select the most appropriate option to substitute the underlined segment in the given



sentence. If there is no need to substitute it, select No Improvement.
The doctor has reassure me that the operation was a routine one.

Ans 1. No Improvement

2. had reassured me

3. is reassured me

4. reassure me

Question ID : 23908731
Status : Answered

Chosen Option : 2

Q.10 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.
Over my dead body

Ans 1. Opposing something fiercely

2. Inheriting to fortune

3. Erecting a grave stone

4. Threatening to kill oneself

Question ID : 23908745
Status : Answered

Chosen Option : 1

Q.11 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.
The bullet struck a wall and was ______ from its course.

Ans 1. reflected

2. twisted

3. deflected

4. crashed

Question ID : 23908751
Status : Answered

Chosen Option : 2

Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.
My aunt/sold her boutique/to a billionaire.

Ans 1. to a billionaire

2. sold her boutique

3. My aunt

4. No error

Question ID : 23908728
Status : Answered

Chosen Option : 1

Q.13 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.
To end in smoke

Ans 1. To do one's duty well

2. To not agree to something



3. To be the cause of a quarrel

4. To come to nothing

Question ID : 23908746
Status : Answered

Chosen Option : 3

Q.14 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.
All the students/is done/better this year.

Ans 1. All the students

2. is done

3. No error

4. better this year

Question ID : 23908727
Status : Answered

Chosen Option : 2

Q.15 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.
Rakesh is foolish/to said/such things.

Ans 1. to said

2. No error

3. such things

4. Rakesh is foolish

Question ID : 23908729
Status : Answered

Chosen Option : 1

Q.16 Choose the correctly spelt word.

Ans 1. Financialy

2. Financially

3. Finantially

4. Finencially

Question ID : 23908750
Status : Answered

Chosen Option : 2

Q.17 Select the most appropriate antonym of the given word. 
Inexpensive

Ans 1. Dear

2. Reasonable

3. Popular

4. Liberal

Question ID : 23908743
Status : Answered

Chosen Option : 4



Q.18 Select the most appropriate option to fill in the blank.
My teacher is the ______ of all.

Ans 1. kindest

2. kind

3. kinder

4. kindly

Question ID : 23908733
Status : Answered

Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank. 
Sanitation refers to public health conditions (1)______ to clean drinking water and adequate
treatment and disposal (2)______ human waste and sewage. (3)______ human contact with
faeces is part of sanitation. Sanitation system (4)______ to protect human health by providing
a clean environment (5) _____ will stop the transmission of disease.

SubQuestion No : 19

Q.19 Select the most appropriate option for blank No. 1.

Ans 1. relate

2. relation

3. related

4. relates

Question ID : 23908736
Status : Answered

Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank. 
Sanitation refers to public health conditions (1)______ to clean drinking water and adequate
treatment and disposal (2)______ human waste and sewage. (3)______ human contact with
faeces is part of sanitation. Sanitation system (4)______ to protect human health by providing
a clean environment (5) _____ will stop the transmission of disease.

SubQuestion No : 20

Q.20 Select the most appropriate option for blank No. 2.

Ans 1. of

2. for

3. with

4. in

Question ID : 23908737
Status : Answered

Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank. 
Sanitation refers to public health conditions (1)______ to clean drinking water and adequate
treatment and disposal (2)______ human waste and sewage. (3)______ human contact with
faeces is part of sanitation. Sanitation system (4)______ to protect human health by providing
a clean environment (5) _____ will stop the transmission of disease.



SubQuestion No : 21

Q.21 Select the most appropriate option for blank No. 3.

Ans 1. Preventing

2. Hampering

3. Prohibiting

4. Facilitating

Question ID : 23908738
Status : Answered

Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank. 
Sanitation refers to public health conditions (1)______ to clean drinking water and adequate
treatment and disposal (2)______ human waste and sewage. (3)______ human contact with
faeces is part of sanitation. Sanitation system (4)______ to protect human health by providing
a clean environment (5) _____ will stop the transmission of disease.

SubQuestion No : 22

Q.22 Select the most appropriate option for blank No. 4.

Ans 1. ignores

2. paves

3. aims

4. directs

Question ID : 23908739
Status : Answered

Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank. 
Sanitation refers to public health conditions (1)______ to clean drinking water and adequate
treatment and disposal (2)______ human waste and sewage. (3)______ human contact with
faeces is part of sanitation. Sanitation system (4)______ to protect human health by providing
a clean environment (5) _____ will stop the transmission of disease.

SubQuestion No : 23

Q.23 Select the most appropriate option for blank No. 5.

Ans 1. that

2. who

3. whom

4. these

Question ID : 23908740
Status : Answered

Chosen Option : 2

Q.24 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.
I am ______ of winning the competition.

Ans 1. resistent

2. confident



3. pertinent

4. reliant

Question ID : 23908752
Status : Answered

Chosen Option : 2

Q.25 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.
Who can prevent you from getting married now that you are within age?

Ans 1. in

2. of

3. No Improvement

4. on

Question ID : 23908730
Status : Answered

Chosen Option : 1

Q.1

Ans

1. 

2. 

3. 

4. 

Question ID : 239087304
Status : Answered

Chosen Option : 3

Section : General Intelligence & Reasoning



Q.2 एक कूट भाषा , ‘PRINT’ को ‘96512’  जाता है और ‘FROM’ को ‘8603’  जाता ।ैह  उसी कूट
भाषा  ‘PROMPT’ का कोड  होगा?

Ans 1. 960398

2. 960392 

3. 980392

4. 960395

Question ID : 239087287
Status : Answered

Chosen Option : 2

Q.3    से उस  को  जो    तीसरे  से उसी तरह से 
है  तरह से   पहले  से  ।ैह

ाफुग  : रेश  ::  : ?

Ans 1. घोड़ा

2. कार

3. बाघ

4. 

Question ID : 239087282
Status : Answered

Chosen Option : 1

Q.4

Ans

1. 

2. 

3. 

4. 

Question ID : 239087301
Status : Answered

Chosen Option : 1

Q.5    से उस   को  जो    तीसरे   से उसी तरह
से  है,  तरह से    पहले   से  ।ैह

PB : UW :: JT : ?

Ans 1. NO



2. OO

3. MO

4. PP

Question ID : 239087284
Status : Answered

Chosen Option : 2

Q.6

Ans

1. 

2. 

3. 

4. 

Question ID : 239087305
Status : Answered

Chosen Option : 2

Q.7

Ans

1. 

2. 



3. 

4. 

Question ID : 239087303
Status : Answered

Chosen Option : 2

Q.8 एक कूट भाषा , ‘TAN’ को ‘33’  जाता है और ‘PAM’ को ‘28’  जाता ।ैह  उसी कूट भाषा  ‘BUG’
का कोड  होगा?

Ans 1. 32

2. 29

3. 28

4. 30

Question ID : 239087288
Status : Answered

Chosen Option : 3

Q.9 नीचे    से उस  को  जो      (?) के  पर आएगी। 
43, 31, 74, 105, 179, ?

Ans 1. 279

2. 284

3. 294 

4. 263

Question ID : 239087294
Status : Answered

Chosen Option : 3

Q.10  दो , '× तथा ÷' को आपस  बदल  जाता है तो   से कौन सा समीकरण सही होगा? 

Ans 1. 14 + 62 × 13 ÷ 31 = 38

2. 14 + 9 ÷ 23 × 3 = 83

3. 11 × 12 ÷ 48 + 6 = 40

4. 63 + 59 ÷ 4 × 8 = 171

Question ID : 239087299
Status : Answered

Chosen Option : 2

Q.11



Ans 1. 

2. 

3. 

4. 

Question ID : 239087297
Status : Answered

Chosen Option : 4

Q.12 नीचे    से उस   को  जो      (?) के  पर
आएगा। 

KP, HM, EJ, BG, ?

Ans 1. XC

2. YD

3. ZE

4. YC

Question ID : 239087281
Status : Answered

Chosen Option : 2

Q.13

Ans

1. 

2. 

3. 



4. 

Question ID : 239087302
Status : Answered

Chosen Option : 2

Q.14

Ans

1. 

2. 

3. 

4. 

Question ID : 239087300
Status : Answered

Chosen Option : 4

Q.15 एक कूट भाषा , ‘GREAT’ को ‘ALYUN’  जाता ।ैह  उसी कूट भाषा  ‘RAPID’ का कोड  होगा?

Ans 1. LUJCX

2. SWLEZ

3. LVJCX

4. RVKDY

Question ID : 239087285
Status : Answered

Chosen Option : 1

Q.16 चँाप   - B, G, N, P तथा T एक के ऊपर एक रखी गई है (    वे इसी   )। N तथा G के
 केवल एक  रखी गयी ।ैह  B, P के  ऊपर ।ैह  B, N के ऊपर ।ैह  G, N के ऊपर  ।ैह  सबसे ऊपर

कौन सी  है?

Ans 1. B



2. G 

3. T

4. P

Question ID : 239087291
Status : Answered

Chosen Option : 1

Q.17 नीचे  गए  और उनके  को  से     गई जानकारी को  मानते ,
चाहे वे   से   से  लगते ,     गए कौनसा/से ,  का

  से णरसुनअ  करता/करते  
कथन: 
I. कुछ K, M  
II. कोई T, M नही ।ैह  

: 
I. कुछ T, K  
II. कुछ M, K 

Ans 1.   I तथा II णरसनुअ  करत े

2. केवल  I णरसनुअ  करता ।है

3. कोई भी  णरसनुअ   करता ।है

4. केवल  II णरसनुअ  करता ।है

Question ID : 239087293
Status : Answered

Chosen Option : 4

Q.18 उस   का चयन     आपस  उसी   है   नीचे  गए
  के   आपस   ।ैह

 : 

Ans 1.  : ानलखे

2. कार : चालक

3.  : नखले -

4. कतंकृ  : पसृीरस

Question ID : 239087283
Status : Answered

Chosen Option : 3

Q.19 चँाप   - F, J, N, R तथा V   ओर खुम  करके एक  जेम  के -  ठेैब    (  
 वे इसी   हो )। J, F के तंरुत   ओर ाठैब  ।ैह  N, F के  ओर   पर ।ैह  V, J के  ओर

  पर ।ैह  J के  ओर   पर कौन ाठैब   है?

Ans 1. R

2. N

3. F

4. V

Question ID : 239087290
Status : Answered

Chosen Option : 1

Q.20 नीचे  गए  और उनके  को  से     गई जानकारी को  मानते ,



चाहे वे   से   से  लगते ,     गए कौनसा/से ,  का
  से णरसुनअ  करता/करते 

कथन:
कुछ   
सभी  ड़ेप  
कोई ड़ेप  शाखा  ।ैह

:
I. कुछ  शाखाए ँ
II. कुछ ड़ेप   
III. कुछ शाखाए ँ  

Ans 1.  I और III णरसनुअ  करत े

2. केवल  III णरसनुअ  करता ।है

3. केवल  II णरसनुअ  करता ।है

4.  I और II णरसनुअ  करत े

Question ID : 239087292
Status : Answered

Chosen Option : 3

Q.21 एक कूट भाषा , ‘STEALH’ को ‘UXGENL’  जाता ।ैह  उसी कूट भाषा  ‘ROBNRT’ का कोड 
होगा?

Ans 1. TSERTX

2. UTESUY

3. TSDRTX 

4. UTFSUY

Question ID : 239087286
Status : Answered

Chosen Option : 3

Q.22    से उस  को  जो    तीसरी  से उसी तरह से
 है  तरह से   पहली  से  ।ैह

36 : 109 :: 25 : ?

Ans 1. 72

2. 76

3. 74 

4. 78

Question ID : 239087296
Status : Answered

Chosen Option : 2

Q.23 नीचे    से उस  को  जो      (?) के  पर आएगी। 

69, 109, 159, 219, 289, ? 

Ans 1. 349

2. 359

3. 369

4. 379



Question ID : 239087295
Status : Answered

Chosen Option : 3

Q.24 छह  - C, E, G, I, K तथा M   ओर खुम  करके एक  जेम  के -  ठेैब   है और वे सभी
एक -  से बराबर  पर  (    वे इसी   हो)। E, C के  ओर पर   पर ।ैह  K,
G के तंरुत   ओर पर ।ैह  G तथा I एक   तरफ आमने-सामने हंुम    ।ैह  I के  ओर से चलते

, I तथा M के    ठेैब   ?

Ans 1. 3

2. 1

3. 0

4. 2

Question ID : 239087289
Status : Answered

Chosen Option : 3

Q.25  कंअ  2 और कंअ  1 को  बदल  जाता है तो  समीकरण का मान  होगा?

9 + 6 ÷ 4 × 21 – 5 = ?

Ans 1. 22

2. 23

3. 29

4. 24 

Question ID : 239087298
Status : Answered

Chosen Option : 1

Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 239087417
Status : Answered

Chosen Option : 1

Q.2

Ans
1. 

2. 

Section : Numerical Aptitude



3. 

4. 

Question ID : 239087406
Status : Answered

Chosen Option : 3

Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 239087414
Status : Answered

Chosen Option : 4

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 239087409
Status : Answered

Chosen Option : 4

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 239087430
Status : Answered



Chosen Option : 3

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 239087411
Status : Answered

Chosen Option : 4

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 239087418
Status : Answered

Chosen Option : 1

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 239087408
Status : Answered

Chosen Option : 2

Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 239087412
Status : Answered

Chosen Option : 1



Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 239087423
Status : Answered

Chosen Option : 2

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 239087413
Status : Answered

Chosen Option : 3

Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 239087424
Status : Answered

Chosen Option : 4

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 239087426
Status : Answered

Chosen Option : 2

Q.14



Ans 1. 

2. 

3. 

4. 

Question ID : 239087428
Status : Answered

Chosen Option : 2

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 239087419
Status : Answered

Chosen Option : 3

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 239087410
Status : Answered

Chosen Option : 2

Q.17

Ans 1. 

2. 



3. 

4. 

Question ID : 239087415
Status : Answered

Chosen Option : 1

Q.18

Ans
1. 

2. 

3. 

4. 

Question ID : 239087425
Status : Answered

Chosen Option : 1

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 239087422
Status : Answered

Chosen Option : 1

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 239087420
Status : Not Answered

Chosen Option : --

Q.21

Ans
1. 



2. 

3. 

4. 

Question ID : 239087407
Status : Answered

Chosen Option : 1

Q.22

Ans
1. 

2. 

3. 

4. 

Question ID : 239087421
Status : Answered

Chosen Option : 2

Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 239087429
Status : Answered

Chosen Option : 3

Q.24

Ans 1. 



2. 

3. 

4. 

Question ID : 239087427
Status : Answered

Chosen Option : 3

Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 239087416
Status : Answered

Chosen Option : 4

Q.1   , 2018 ने    का  ले  है  ______  लागू
 गया था।

Ans 1. 1988

2. 1984

3. 1986

4. 1989

Question ID : 239087165
Status : Not Answered

Chosen Option : --

Q.2 लटेमनग  (Gunmetal)   धातु से  है?

Ans 1. कॉपर, , 

2. कॉपर, डले , 

3. कॉपर, , डले

4. कॉपर, आयरन, 

Question ID : 239087173
Status : Answered

Chosen Option : 4

Q.3 भारतीय     से कौन-सी  को    (USSR) से 
गया था?

Ans 1.  

2.  योजना

3. 

Section : General awareness



4.  ीचसू

Question ID : 239087167
Status : Answered

Chosen Option : 1

Q.4   लडंमवैज    का  जीव है?

Ans 1. 

2.   खाड़ी

3. मानस

4.  रण ऑफ 

Question ID : 239087175
Status : Answered

Chosen Option : 1

Q.5   से कौन-सी नोबल सैग  नतेचअ -  करने के  उपयोग  जाती है?

Ans 1. 

2. 

3. 

4. 

Question ID : 239087174
Status : Answered

Chosen Option : 2

Q.6 तीजरुग  कौर का   से  लेख  से धंबंस  है?

Ans 1. 

2. 

3. 

4. 

Question ID : 239087160
Status : Answered

Chosen Option : 1

Q.7   से कौन-सा    मनाया जाता है?

Ans 1. बोनालु

2.  ालमे

3. बाली यीततृ

4. 

Question ID : 239087158
Status : Not Answered

Chosen Option : --

Q.8 ीरेबीरेब  ______  कमी के कारण होता ।ैह

Ans 1.  B3



2.  B6

3.  B1

4.  B12

Question ID : 239087171
Status : Answered

Chosen Option : 3

Q.9 -ए-अकबरी’ के कखेल  कौन थे?

Ans 1.  खां

2. लबुअ  फजल

3. अकबर

4. नसेमीभ

Question ID : 239087178
Status : Answered

Chosen Option : 2

Q.10 गोल  भारत के     है?

Ans 1. 

2. 

3. 

4. केरल

Question ID : 239087157
Status : Answered

Chosen Option : 3

Q.11   से कौन-सा  गोवा का लोक  है?

Ans 1. आगुफ

2. फुगड़ी

3. 

4. चांम

Question ID : 239087156
Status : Answered

Chosen Option : 1

Q.12   से कौन-सा   का सबसे बड़ा   है?

Ans 1.  

2.   

3. ईडन 

4.   

Question ID : 239087159
Status : Answered

Chosen Option : 2

Q.13



  से कौन-सा  कगंअ (Cell Organelles)   ीलैथ  (Suicide Bag) के  
जाना जाता है?

Ans 1.  

2. 

3. लयनकाय

4.   

Question ID : 239087172
Status : Answered

Chosen Option : 3

Q.14 डंकुजरूस  झील    से     है?

Ans 1. 

2. तारजगु

3. बाजपं

4. 

Question ID : 239087177
Status : Answered

Chosen Option : 1

Q.15 भारत के     कौन करता है?

Ans 1.  

2. लोकसभा 

3. 

4. 

Question ID : 239087169
Status : Answered

Chosen Option : 4

Q.16 '  ' का नखेल    था?

Ans 1.  राय

2.  राय

3.  राय

4.  राय

Question ID : 239087162
Status : Not Answered

Chosen Option : --

Q.17 ए   टू - जीरोमेम  ऑफ़ ए  चीफ़' नामक  का नखेल     ानेसौन
 ने  है?

Ans 1. लीशसु  कुमार

2.  

3.  कुमार

4.  कुमार



Question ID : 239087163
Status : Answered

Chosen Option : 4

Q.18  गौरी और  चौहान के बीच कौन-सी लड़ाई  थी?

Ans 1. तराइन  लड़ाई

2. खानवा का 

3.   लड़ाई

4.  का 

Question ID : 239087180
Status : Answered

Chosen Option : 1

Q.19   के  कौन-सा सहजीवी जीवाणु  है?

Ans 1. 

2. 

3. 

4. 

Question ID : 239087170
Status : Not Answered

Chosen Option : --

Q.20  (GST)     ?

Ans 1. 33

2. 35

3. 25

4. 23

Question ID : 239087166
Status : Answered

Chosen Option : 1

Q.21 नूज  2019 तक   के रासुनअ , भारत का कौन-सा      का 
करता है?

Ans 1. रावतभाटा

2. कुडनकुलम

3. कैगा

4. काकरापार

Question ID : 239087176
Status : Answered

Chosen Option : 3

Q.22 भारत    का गठन    था?

Ans 1. 1925

2. 1922



3. 1927

4. 1930

Question ID : 239087179
Status : Answered

Chosen Option : 1

Q.23 द  ’ के कखेल /  कौन ?

Ans 1.  ीमाकारमु

2.  ओए

3. जॉन 

4. माइकल नदसूधुम  

Question ID : 239087161
Status : Not Answered

Chosen Option : --

Q.24 भारतीय   के 19    कौन थे?

Ans 1. गोपाल  गोखले

2. सर ीरनहे  कॉटन

3. लाल मोहन घोष

4.  

Question ID : 239087168
Status : Answered

Chosen Option : 3

Q.25 राजकोषीय घाटा का   है?

Ans 1. सरकार   कुल 

2. सरकार के कुल  और कुल  के बीच रतअं

3. सरकार का कुल 

4. सरकार  ली गयी कुल उधार 

Question ID : 239087164
Status : Answered

Chosen Option : 4


